

www.math.science.cmu.ac.th/thaijournal

On Asymptotically Lacunary Statistical Equivalent Sequences

F. Patterson and E. Savaş

Abstract : This paper presents the following definition which is a natural combination of the definition for asymptotically equivalent, statistically limit and lacunary sequences. Let θ be a lacunary sequence; the two nonnegative sequences [x] and [y] are said to be asymptotically lacunary statistical equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{r} \frac{1}{h_{r}} \left| \left\{ k \in I_{r} : \left| \frac{x_{k}}{y_{k}} - L \right| \ge \epsilon \right\} \right| = 0$$

(denoted by $x \stackrel{S_{\theta}^{L}}{\sim} y$) and simply asymptotically lacunary statistical equivalent if L = 1. In addition, we shall also present asymptotically equivalent analogs of Fridy's and Orhan's theorems in [3].

Keywords : Pringsheim Limit Point; P-convergent. 2000 Mathematics Subject Classification : 40A99, 40A05.

1 Introduction

In 1993, Marouf presented definitions for asymptotically equivalent sequences and asymptotic regular matrices. In 2003, Patterson extend these concepts by presenting an asymptotically statistical equivalent analog of these definitions and natural regularity conditions for nonnegative summability matrices. This paper extend the definitions presented in [5] to lacunary sequences. In addition to these definition, natural inclusion theorems shall also be presented.

2 Definitions and Notations

Definition 2.1 (Marouf, [4]) Two nonnegative sequences [x], and [y] are said to be *asymptotically equivalent* if

$$\lim_k \frac{x_k}{y_k} = 1$$

(denoted by $x \sim y$).

Definition 2.2 (Fridy, [2]) The sequence [x] has statistic limit L, denoted by $st - \lim s = L$ provided that for every $\epsilon > 0$,

$$\lim_{n} \frac{1}{n} \left\{ \text{the number of } k \le n : |x_k - L| \ge \epsilon \right\} = 0.$$

The next definition is natural combination of definition (2.1) and (2.2).

Definition 2.3 (Patterson, [5]) Two nonnegative sequence [x] and [y] are said to be asymptotically statistical equivalent of multiple L provided that for every $\epsilon > 0$,

$$\lim_{n} \frac{1}{n} \left\{ \text{the number of } k < n : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} = 0$$

(denoted by $x \stackrel{S_L}{\sim} y$), and simply asymptotically statistical equivalent if L = 1.

Following these results we introduce two new notions asymptotically lacunary statistical equivalent of multiple L and strong asymptotically lacunary equivalent of Multiple L.

By a lacunary $\theta = (k_r)$; r = 0, 1, 2, ... where $k_0 = 0$, we shall mean an increasing sequence of non-negative integers with $k_r - k_{r-1}$ as $r \to \infty$. The intervals determined by θ will be denoted by $I_r = (k_{r-1}, k_r]$ and $h_r = k_r - k_{r-1}$. The ratio $\frac{k_r}{k_{r-1}}$ will be denoted by q_r .

Definition 2.4 Let θ be a lacunary sequence; the two nonnegative sequences [x] and [y] are said to be asymptotically lacunary statistical equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{r} \frac{1}{h_r} \left| \left\{ k \in I_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| = 0$$

(denoted by $x \stackrel{S_{\theta}^L}{\sim} y$) and simply asymptotically lacunary statistical equivalent if L = 1. Furthermore, let S_{θ}^L denote the set of x and y such that $x \stackrel{S_{\theta}^L}{\sim} y$.

Definition 2.5 Let θ be a lacunary sequence; two number sequences [x] and [y] are strong asymptotically lacunary equivalent of multiple L provided that

$$\lim_{r} \frac{1}{h_r} \sum_{k \in I_r} \left| \frac{x_k}{y_k} - L \right| = 0,$$

(denoted by $x \overset{N_{\theta}^{L}}{\sim} y$) and strong simply asymptotically lacunary equivalent if L = 1. In addition, let N_{θ}^{L} denote the set of x and y such that $x \overset{N_{\theta}^{L}}{\sim} y$.

3 Main Results

Theorem 3.1 Let $\theta = \{k_r\}$ be a lacunary sequence then

- 1. (a) If $x \overset{N_{\theta}^{L}}{\sim} y$ then $x \overset{S_{\theta}^{L}}{\sim} y$ (b) N_{θ}^{L} is a proper subset of S_{θ}^{L}
- 2. If $x \in l_{\infty}$ and $x \stackrel{S^{L}_{\theta}}{\sim} y$ then $x \stackrel{N^{L}_{\theta}}{\sim} y$

3.
$$S^L_{\theta} \cap l_{\infty} = N^L_{\theta} \cap l_{\infty}$$

where l_{∞} denote the set of bounded sequences.

Proof. Part (1a): If $\epsilon > 0$ and $x \overset{N_{\theta}^{L}}{\sim} y$ then

$$\begin{split} \sum_{k \in I_r} \left| \frac{x_k}{y_k} - L \right| &\geq \sum_{k \in I_r \& \left| \frac{x_k}{y_k} - L \right| \ge \epsilon} \left| \frac{x_k}{y_k} - L \right| \\ &\geq \epsilon \left| \left\{ k \in I_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right|. \end{split}$$

Therefore $x \stackrel{S_{\theta}^{L}}{\sim} y$.

Part (1b): $N_{\theta}^{L} \subset S_{\theta}^{L}$, let [x] be define as follows x_{k} to be $1, 2, \ldots, [\sqrt{h_{r}}]$ at the first $[\sqrt{h_{r}}]$ integers in I_{r} and zero otherwise. $y_{k} = 1$ for all k. These two satisfies the following $x \stackrel{S_{\theta}^{0}}{\sim} y$ but the following fails $x \stackrel{N_{\theta}^{L}}{\sim} y$.

Part (2): Suppose [x] and [y] are in l_{∞} and $x \stackrel{S_{\theta}^L}{\sim} y$. Then we can assume that

$$\left|\frac{x_k}{y_k} - L\right| \le M \quad \text{for all } k.$$

Given $\epsilon > 0$

$$\begin{aligned} \frac{1}{h_r} \sum_{k \in I_r} \left| \frac{x_k}{y_k} - L \right| &= \frac{1}{h_r} \sum_{k \in I_r \& \left| \frac{x_k}{y_k} - L \right| \ge \epsilon} \left| \frac{x_k}{y_k} - L \right| + \frac{1}{h_r} \sum_{k \in I_r \& \left| \frac{x_k}{y_k} - L \right| < \epsilon} \left| \frac{x_k}{y_k} - L \right| \\ &\leq \frac{M}{h_r} \left| \left\{ k \in I_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| + \epsilon. \end{aligned}$$

Therefore $x \stackrel{N_{\theta}^L}{\sim} y$.

Part (3): follows from (1) and (2).

Theorem 3.2 Let $\theta = \{k_r\}$ be a lacunary sequence with $\liminf q_r > 1$, then

$$x \stackrel{S^L}{\sim} y$$
 implies $x \stackrel{S^L_{\theta}}{\sim} y$.

Proof. Suppose first that $\liminf q_r > 1$, then there exists a $\delta > 0$ such that $q_r \ge 1 + \delta$ for sufficiently large r, which implies

$$\frac{h_r}{k_r} \ge \frac{\delta}{1+\delta}.$$

If $x \stackrel{S^L}{\sim} y$, then for every $\varepsilon > 0$ and for sufficiently large r, we have

$$\begin{aligned} \frac{1}{k_r} \left| \left\{ k \le k_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| &\ge \frac{1}{k_r} \left| \left\{ k \in I_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \\ &\ge \frac{\delta}{1+\delta} \frac{1}{h_r} \left| \left\{ k \in I_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right|; \end{aligned}$$

this completes the proof.

Theorem 3.3 Let $\theta = \{k_r\}$ be a lacunary sequence with $\sup_r q_r < \infty$, then

$$x \stackrel{S_{\theta}^{L}}{\sim} y \text{ implies } x \stackrel{S^{L}}{\sim} y.$$

Proof. If $\sup_r q_r < \infty$, then there exists B > 0 such that $q_r < B$ for all $r \ge 1$. Let $x \stackrel{S^L_{\theta}}{\sim} y$, and $\varepsilon > 0$. There exists R > 0 such that for every $j \ge R$

$$A_j = \frac{1}{h_j} \left| \left\{ k \in I_j : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| < \epsilon.$$

We can also find K > 0 such that $A_j < K$ for all j = 1, 2, ... Now let n be any integer with $k_{r-1} < n < k_r$, where r > R. Then

$$\begin{aligned} \frac{1}{n} \left| \left\{ k \le n : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| &\le \frac{1}{k_{r-1}} \left| \left\{ k \le k_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \\ &= \frac{1}{k_{r-1}} \left\{ \left| \left\{ k \in I_1 : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \right\} \\ &+ \frac{1}{k_{r-1}} \left\{ \left| \left\{ k \in I_2 : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \right\} \\ &+ \dots + \frac{1}{k_{r-1}} \left\{ \left| \left\{ k \in I_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \right\} \\ &= \frac{k_1}{k_{r-1}k_1} \left| \left\{ k \in I_1 : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \\ &+ \frac{k_2 - k_1}{k_{r-1}(k_2 - k_1)} \left| \left\{ k \in I_2 : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \end{aligned}$$

270

$$\begin{split} &+\dots + \frac{k_R - k_{R-1}}{k_{r-1}(k_R - k_{R-1})} \left| \left\{ k \in I_R : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \\ &+\dots + \frac{k_r - k_{r-1}}{k_{r-1}(k_r - k_{r-1})} \left| \left\{ k \in I_r : \left| \frac{x_k}{y_k} - L \right| \ge \epsilon \right\} \right| \\ &= \frac{k_1}{k_{r-1}} A_1 + \frac{k_2 - k_1}{k_{r-1}} A_2 + \dots + \frac{k_R - k_{R-1}}{k_{r-1}} A_R \\ &+ \frac{k_{R+1} - k_R}{k_{r-1}} A_{R+1} + \dots + \frac{k_r - k_{r-1}}{k_{r-1}} A_r \\ &\leq \left\{ \sup_{j\ge 1} A_j \right\} \frac{k_R}{k_{r-1}} + \left\{ \sup_{j\ge R} A_j \right\} \frac{k_r - k_R}{k_{r-1}} \\ &\leq K \frac{k_R}{k_{r-1}} + \epsilon B. \end{split}$$

This completes the proof.

Theorem 3.4 Let $\theta = \{k_r\}$ be a lacunary sequence with $1 < \inf_r q_r \le \sup_r q_r < \infty$, then

$$x \stackrel{S^L}{\sim} y = x \stackrel{S^L_{\theta}}{\sim} y.$$

Proof. The result clearly follows from Theorem 3.2 and 3.3.

References

- J. A. Fridy, Minimal rates of summability, Canad. J. Math., 30(4)(1978) 808– 816.
- [2] J. A. Fridy, On statistical convergence, Analysis, 5(1985), 301–313.
- [3] J. A. Fridy and C. Orhan, Lacunary statistical convergent, *Pacific J. Math.*, 160(1)(1993), 43–51.
- [4] M. Marouf, Asymptotic equivalence and summability, Internat. J. Math. Math. Sci., 16(4)(1993), 755–762.
- [5] R. F. Patterson, On asymptotically statistically equivalent sequences, *Demonstratio Math.*, 36(1)(2003), 149–153.

(Received 12 March 2006)

F. Patterson Department of Mathematics and Statistics University of North Florida Florida 32224, U.S.A. e-mail : rpatters@unf.edu E. Savaş Department of Mathematics Education Faculty Yüzüncü Yıl University Van-Turkey. e-mail : ekremsavas@yahoo.com

272